~{(<

“““““‘J TSSO SSSS5S58
|TRRN . W F L L ity / [ [ 4
ThAat. YA  ThawW OSs /SSSSs

AR . NN PPy /SIiPSSsS

ATARNS._ NANNNNN. PSS 2 IS
A N N N N N N N N N N N W

SolarPartsComponents.com

GROUND SOLUTION

Ground N Type

Installation Instructions
SPC-GA20-4H-CN

This project construction manual is suitable for: panel size 1640x992x35mm, 4 rows and 6 columns; panels are placed horizontally, the installation

angle is 20 degrees, the design wind speed is 30m/s (JIS C8955 2017), the snow thickness is 30 cm, and the grounding screw foundation.

The aluminum bracket adopts 100% aluminum structure and stainless steel bolts. It is lightweight, corrosion-resistant, beautiful in appearance, and has a service life
of more than 25 years. Most parts of the product are pre-assembled in the factory, which saves assembly time on site and labor costs. Before installing this system,

please read the following installation instructions carefully. In addition, please be sure to perform construction in accordance with local laws.



Design And Construction Drawings

Front/side view of the whole bracket

When installing, please follow the installation position size shown in the
figure for construction:

2220

1600

N R T

Side view

- 1640x6+10%5=9890 -

4 . 4900%2=9800 45

6_

)

100 2800%3=8400 _1.700_
Front view




Basic Installation

Step 1, This case is a grounding screw foundation. Before installation, the site needs to be
cleaned up, and the objects affected by the installation must be cleaned up. Some soll
mounds or ditches that will affect the installation are flattened and filled. Before installation,
the soll quality of the installation site needs to be tested and compiled into a soll report to
verify whether the solil can withstand the entire platform. For the construction of the piles,
you can consult the local reliable construction unit.

Step 2, Install the grounding screw

The grounding screw Is driven Into the ground by a special machine, and the center line of
the grounding screw Is always perpendicular to the ground. Please refer to the following
design drawings for the dimensions of the installation interval. The total length of the
grounding screw IS 1600mm, the driving depth is 1400 mm, and the distance from the
ground Is about 200 mm, but please make sure that the driving depth of all the piles Is the
same horizontal line.

2258

Top view




Installation Steps

Step 1: Pre-assembly and installation of purlin

When shipping, the factory has pre-assembled the purlin, jackets, columns, and grounding
screws with bolts. After the bracket arrives on site, only need to open the pre-assembly,
rotate the square tube In the direction on the drawing, and then remove the pre-assembled
Bolts, lock the square tube on the base, and finally tighten all the bolts with a torque

wrench. _
Step 1 Step 2

1. Remove the pre-assembled paper 2.0pen the column in the direction of

wrapper or stretch film the arrow

Step 3 Step 4

3.The front and rear columns are vertical 4. Fix diagonal brace and jacket with

to the ground after unfolding bolt assembly
Step 5 Step 6
2
5. Fix the diagonal brace with the base 6. Picture after assembly

with bolt components



Step 2: Fix the purlin pre-assembly
Put the assembled purlin pre-assembled on the ground screw, and Install the

pre-assembled base on the ground screw with M12*40 bolts.

- Note:
. The tightening torque of
A2-70 bolts Is as follows:
M8 Bolt: 11£2 N*m
. M10 Bolt: 20£2N*m

M12 Bolt: 35£2N*m

Note: After installation, the front and rear columns are vertical to the ground. The connecting bolts of the front and rear columns
and the base are at the lowest point. Try to make the bottom of the column contact with the base, so that the force on the bracket
can directly act on the grounding screw. This position can also be adjusted when the upper surface of the purlin is not in the

same plane.



Step 3, Adjust the purlin pre-assembly
According to the above steps, all the purlins are pre-assembled and installed on the

ground screws. Note that after all the purlins are pre-assembled and installed on the
ground screws, the front ends of the purlins must be on the same line. If they are not on
the same line, you can Loosen the bolts fixed to the ground screws on the base, and

fine-tune the entire purlins before and after pre-assembly.




Step 4, install aluminum edge column

The aluminum edge column Is installed on the rear vertical support square tube. The rear
vertical square tube has pre-drilled holes. The aluminum edge column is fixed with M10
external hexagonal bolt components.One square tube is installed on each of the front and
pack sides, and the two aluminum edge columns are cross-shaped, and one set Is installed

crosswise every other span.

| By '%-:\

' Step 1

Step 2

The aluminum edge column is installed on the
INner side of the square tube and fixed with

hexagonal bolts

Installation complete picture of inner aluminum
edge column

The aluminum edge column is installed on the
outside of the square tube and fixed with
hexagonal bolts

rSEp5T

Installation completed drawing of the outer
aluminum edge column

2 aluminum edge columns are crossed

"-_1:.:-;
" _;;-c-

Install a set of aluminum edge column every
other span




Step 5, Splicing Beams

The steps of rail connection are as follows:

_ Step 2

1. The length of the connecting piece
IS 300mm, and the depth of plugging
the connecting piece into the Inner
cavity of the track 1s 150mm

Step 3

2. Fix the connecting piece with 2
self-tapping screws

4. Fix the other track with 2
self-tapping screws

/

/ Step 6

5. Side view of rail connection
completed

6. Use the same method to fix the
other side with self-tapping screws




Step 5, Determine the position of the beam on the purlin

According to the construction drawings, first connect two L4900 rails according to
the above rail connection method. Then the cantilever is exposed by 7/00mm, and
the distance between the front and rear of the purlin is 124mm, and then install a
whole rail at an interval of 1013mm. The fixing method of the beam and the purlin

IS shown In the figure below

- 4900 . 4900 _
\\A/ B i

Front view

Side view




Step 7, Fix the beam
The beam Is fixed with a crossbeam. There Is a slot at the bottom of each rail. First put the

spliced rail on the purlin. The placement position Is as above. Put the pressure block
sideways Into the groove In the middle of the purlin, and then press the block Press down the
groove at the bottom of the beam, and then use an Allen key to lock the pressure block
tightly, press a beam fixing piece on each side of the rall

Step 1 . Step 2




After the beam is fixed, the following picture is shown:

Fix the remaining 4 splicing rails on the puirlins according to the above
installation steps. After the installation is completed, the following picture is
shown:




Step 8, Install Solar Panels
According to the construction drawings, we can see that the solar panels are placed

horizontally on the rail, from bottom to top, from right to left, or in the opposite direction.
The solar panel frame on the outermost side exposes the rail 45mm, and the distance
petween the horizontal panels iIs 10mm. The position of the mid /end clamp is 940mm In
the center, or adjust the position of the mid /end clamp according to the site

... 1640%6+10%5=9390

45 | _ 4900 L 45

L 6-1640
o0

I T 2




Step 9, Fix the solar panel with mid/end clamp
The solar panel Is fixed by mid/end clamp, the two rails are fixed by end clamp, and the middle

3 rails are fixed by mid clamp . WWhen installing, you only need to press the mid/end clamp to the
side so that the block Is locked into the groove of the beam, without sliding In from the side of

the rail. There Is a grounding clip on the mid clamp. The grounding clip needs to be pressed
petween the rail and the panel, and the bumps on the grounding clip can pierce the surface of

the rail to conduct electricity.




Step 10, Fix the grounding clip

Use self-tapping screws to fix the grounding clip on the bottom of the rall, install one on each
pbeam, and Install each grounding clip in the same position. Then pass the copper wire through
all the grounding clips, tighten the M6 bolts on the side of the grounding clip, fix the copper wire

on the grounding clip, and finally lead the copper wire into the ground




oA

igure

.I_-,t.._..r1t.t._.-.&_t._-.1.-1..__ gy LN

lete, the following f

— YIS0 2748

ion is comp

5%
]
g

pREPPREEE

After the overall installat



=< C\'ﬂ
"“‘“““‘J T A T A i ST BT AT

TERERES . aaw EEETE = T T TESE
_ThEunt. TR Teawew PPy /SorSsSs
T AR AN

TS TS ESE
TANNY. TARARNNN. PPy 2 JIJPSN
RN AR R RSN NN N NS s Pt g e

SolarPartsComponents.com

KIAMEN TOP BEST TECH GO. LTD

Info@SolarPartsComponents.com




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16



